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QID : 1 - In the following question, select the related word pair from the given alternatives.
Rain: Clouds::?:?

TrAfaRd weat # U 1w fshet & & Heiftid <ree; 97 1 glv|

Options:

1) Rice : Food

Il : GreT

2) Grey : Colour

TN : T

3) Heat : Sun

aff g

4) Snow : Mountains

TF : qdd

Correct Answer: Heat : Sun
aff

Candidate Answer: Heat : Sun

aeff

QID : 2 - In the following question, select the related word from the given alternatives.

Cactus : Plant : : Rice: ?
TE=Te e 9ot # U 910 fashoul & & HeferT orsg &1 giv|

Feq: dtur: gEe: ?
Options:

1) Basmati

SIEAAT

2) Crop

wHT

3) White

EiLirey

4) Rabi

&

Correct Answer: Crop
wd

Candidate Answer: Crop
wH

QID : 3 - In the following question, select the related word from the given alternatives.
Pink : Colour : : Eagle : ?

TR geat # U a1v faehedt # & Haiftrd 2ree; 1 gl

T[T s T AT 1 ?
Options:

1) Black

o))

2) Symbol

Rrest

3) Bird

qafr

4) Sky

ATRTRT
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Correct Answer: Bird
Tafr

Candidate Answer: Bird

&Y

QID : 4 - In the following question, select the related letter pair from the given alternatives.
TOM:NIG::?:?

frafaf@a et 7 T 1w et 3 & waftra s1aw 3o &1 gfaw)

TOM:NIG::?:?

Options:

1) EAT : YUN

2) EAT : XXM

3) FAT : LMV

4) EAT : ZXC
Correct Answer: EAT : YUN
Candidate Answer: EAT : YUN

QID : 5 - In the following question, select the related letters from the given alternatives.
LERI: PJVN:: MONT:?

Tt et o fow 1w et 7 & wafta et 71 gfaw)

LERI: PJVN :: MONT:?

Options:

1) WRTY

2) QTRY

3) RITY

4) RQYB
Correct Answer: QTRY
Candidate Answer: QTRY

QID : 6 - In the following question, select the related letters from the given alternatives.
SAT : WEX :: MET : ?
et weat # fou a1v fashet & & Heiftrd 31eRT 1 gfav]

SAT : WEX : : MET : ?

Options:
1) AQI

2) IYX
3) FHY

4) QIX
Correct Answer: QIX
Candidate Answer: QIX

QID : 7 - In the following question, select the related number from the given alternatives.
43:7::23:?

=T weat # foU 10 faehoul & & Haiftra @& &1 gi=w|

43:7::23:?

Options:

1)6

2)4

3)7

4)5
Correct Answer: 5
Candidate Answer: 7



QID : 8 - In the following question, select the related number from the given alternatives.
38:53::53:?
TrAfaf@d weat # U a1v faeheut # & Haiftra Feam &1 giav)

38:53::53:?

Options:
1) 72

2) 68
3)79

4) 87
Correct Answer: 68
Candidate Answer: 68

QID : 9 - In the following question, select the related number from the given alternatives.
9:81::11:7?
TrAfaRad weat # feu a1v fashet # & Weiftrd w&ar &1 v

9:81::11:?
Options:
1)78

2) 93
3) 121

4) 146
Correct Answer: 121
Candidate Answer: 121

QID : 10 - In the following question, select the odd word from the given alternatives.

TF=ATe e weat # U 10 fasheul & & fawe ersg &1 giavw|
Options:

1) Goggle

TJH

2) Purse

TF

3) Accessories

TS FTHAT

4) Belt

Soc

Correct Answer: Accessories
HETIF ATHIA

Candidate Answer: Accessories
A& HIHAT

QID : 11 - In the following question, select the odd word from the given alternatives.

TR geat # U a1v fasheut # & fave weg &1 gi=w)
Options:

1) Grapes

3

2) Guava

ARG

3) Cauliflower

Gorairedr

4) Orange

HeRT

Correct Answer: Cauliflower

CGEIE

Candidate Answer: Cauliflower

LEEIED

kN

QID : 12 - In the following question, select the odd word from the given alternatives.

TrAfaRad geat # feu a1v fashedt 7 @ fava usg &1 giaw)



Options:
1) Sparrow
fafsar

2) Rat

=T

3) Ostrich
Rl

4) Parrot
arar

Correct Answer: Rat
et

Candidate Answer: Rat
T@T

«

QID : 13 - In the following question, select the odd letters from the given alternatives.

TF=Te e weat # U 1w fashoul & & fawer 37eRT 1 giav|

Options:
1) GCXTO
2) KGBXS
3) RNIEX
4) QMHDY

Correct Answer: RNIEX
Candidate Answer: RNIEX

QID : 14 - In the following question, select the odd letters from the given alternatives.

frafafla et # fow a0 et # & fawe 3w #t g

Options:
1) SOKG
2) AWSO
3) RNJF
4) CYTP

Correct Answer: CYTP
Candidate Answer: CYTP

QID : 15 - In the following question, select the odd letters from the given alternatives.

AR geat # U a1v faehodl 7 & fawer 37eRT &1 giaw|
Options:

1) KNQ

2) DGJ

3) wzB

4) TWZ

Correct Answer: WZB

Candidate Answer: WZB

QID : 16 - In the following question, select the odd nhumber from the given alternatives.

TrAfaRad weat # feu a1v fashent # & fave deam &1 giw|
Options:

1)7-11

2)12-16

3)14-18

4)9-15

Correct Answer: 9 — 15

Candidate Answer: 7 — 11

QID : 17 - In the following question, select the odd nhumber from the given alternatives.

TrAfaRad geat # fev a1v fashet 7 & fave deam &1 giwl
Options:

1)2-4

2)3-9

3)4-18

4)5-25

Correct Answer: 4 — 18

Candidate Answer: 4 — 18

QID : 18 - In the following question, select the odd number pair from the given alternatives.

Tt et # v 1w et 7 & fawer dew 397 1 gl



Options:

1) 76 —42

2)92-20

3)73-21

4) 93 -27

Correct Answer: 92 - 20
Candidate Answer: 93 - 27

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1, Flagrant
2, Flavour
3. Flatter
4. Flick

5. Flawed

TF=A e ereal 1 eTeeehrer & 3= aTel S & 37TAR fordd|

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

Options:
1) 13254

2) 31254
3) 23541

4) 32541
Correct Answer: 13254
Candidate Answer: 13254

QID : 20 - According to dictionary, which of the following word will come at THIRD position?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism

ASCHIA o AR, TAEATIRE H & hiel T 2lee; ey T T JA?

1. Heritage
2, Helpful
3. Hectic
4. Heroic
5. Heroism

Options:
1) Hectic

2) Heritage
3) Heroic

4) Helpful
Correct Answer: Heritage
Candidate Answer: Heritage

QID : 21 - From the given alternatives, according to dictionary, which word will come at LAST position?

o 1w fahodl & @, ereghler & JHER, it AT 2eg e T W 3mem?

Options:
1) Juvenile
2) Justify
3) Judge
4) Justice

Correct Answer: Juvenile
Candidate Answer: Juvenile

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
F,M,T,?,H0
T 37eTehe fem 1T €, Torael & weh ug oo §1 U 910 faehedl 7 & a8 WEl faehed AT, ST JHeTohdT bl 1 |

F,M,T,?2,H,0



Options:
1)B

2)C
3)A

4)D
Correct Answer: A
Candidate Answer: A

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ROK, LIE, FCY, ZWS, ?
Teh 3TeTehA T 91 €, Torae & weh ug oo 81 U 91U faeheul A & 98 WEl fahed AT, S AeToha T 1 |

ROK, LIE, FCY, ZWS, ?
Options:

1) LAQ

2) SRV

3) TQM

4) FMQ
Correct Answer: TQM
Candidate Answer: TQM

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FAQ, LGW, RM(C, ?, DYO
Tk 3TeTehA T 9 B, Torae & weh ug oo B U 91U faeheul A & a8 HEl fashed YT, S Aefoha T 0 H |

FAQ, LGW, RMC, ?, DYO

Options:
1) VIR

2) XSI
3) LSI

4) MIS
Correct Answer: XSI
Candidate Answer: XSI

QID : 25 - In the following question, select the missing number from the given alternatives.
14, 22,49, 113, 238, ?
AR geat # U a1v fehedl & & oot 37%h AT Hifaiv|

14, 22, 49, 113, 238, ?
Options:

1) 386

2) 532

3) 454

4) 576

Correct Answer: 454
Candidate Answer: 454

QID : 26 - In the following question, select the missing number from the given alternatives.
42,21, 21, 31.5,63,?
Tt weat # fow a0 Redt # & dea 3% A1 Hifaw

42,21, 21, 31.5,63,?
Options:

1) 169.75

2) 157.5

3) 152.5

4) 126.75

Correct Answer: 157.5

Candidate Answer: [ NOT ANSWERED ]



QID : 27 - In the following question, select the missing number from the given alternatives.
14, 44, 135, 409, 1232, ?
TR geat # U a1v fehedl & & ot 37%h AT Hifaiv|

14, 44, 135, 409, 1232, ?
Options:

1) 2962

2) 3340

3) 3702

4) 3406

Correct Answer: 3702
Candidate Answer: 3702

QID : 28 - E is sitting between D and A, B is to the right of A, C is at one of the ends and C and D are sitting next to each other. Who is sitting third?

E, D3RA& = darg, B, A & aifeell 3 &, C, var Y W § 3R C 31k D va g@d & aarel & 98 §)| e Tu1ef o et dar 82
Options:

1)D

2)A

3)B

4)E
Correct Answer: E
Candidate Answer: E

QID : 29 - Showing a photograph of a married couple B said that the gentleman in it was his father's father and A said that the lady in it was her mother. How is A
related to B?

W%mgrsﬁ?awqﬂaﬁ'@mgnBﬁm%sﬂﬁmmﬁamﬁméﬁﬁmﬂmAﬁrmﬁ:wﬁsﬁﬁr%a’s’mmaﬁl A, B ¥ g g gefta 8?2
Options:

1) Ais B's mother's sister

A BHRATH TETE

2) A'is B's sister

A BHrTgT g

3) Ais B's Father's sister

ABFRaTH ag1¢

4) A is B's mother

A BHIATE

Correct Answer: A is B's Father's sister

ABFRaTHragT g

Candidate Answer: A is B's Father's sister
ABFRaTfraga g
QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.

MERCANTILE
TrAfaRd fashedt 7 & g Usg YIAT S 14T 1T 2ree; & STaRT T TAT Sk #FET STl ST Hehell:

MERCANTILE

Options:
1) truce

2) learn
3) trace

4) claim
Correct Answer: truce
Candidate Answer: truce

QID : 31 - If OLYMPUS is coded as MJWKNSQ, then how will TEN be coded as?

af& OLYMPUS &1 %15 3 MIWKNSQ or@T Srar & af TEN &1 1s & &= forgar?

Options:
1) RCL

2) GYM
3) SDM

4) UFO
Correct Answer: RCL
Candidate Answer: RCL



QID : 32 - In a certain code language, 1875 means 'wound the round watch', 6143 means 'a cake is round' and 7321 means 'watch a round wheel'. Find the code
for 'watch'.

TRy fATaa s $1wT 3 1875 &1 3121 & 'wound the round watch', 6143 &7 312 & 'a cake is round' 31X 7321 @7 3797 & 'watch a round wheel'| 'watch' & T @i AT
Exyl

Options:
1)1

2)8
3)5

4)7
Correct Answer: 7
Candidate Answer: 7

QID : 33 - In a certain code language, '+' represents -, '-' represents X', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.

96 x4 + 125 +25-5="?
et ARTT HIg MW F '+, - T YT AT &, -, X' B ISRIT FATE, 'X, '+ & G ar & 3K '+, '+ Y qeRiT war &1 Feafafld g2 & 3car A1 #1?

96 x4 +125+25-5=7?
Options:

1) 23

2) 24

3) 50

4)8

Correct Answer: 24
Candidate Answer: 24

QID:34-1f17$22 =4 and 56 $ 13 = 7, then find the value of 71 $ 25 = ?

TG 17$22=43R56$13=7,ar 71 $ 25 = ? &I AT AT ?
Options:

1) 56

2) 96

3)1

4)8

Correct Answer: 1

Candidate Answer: 1

QID: 35-If A$ B means Ais son of B, A # B means A is brother of B and If A * B means A is father of B, then what does X # Y * Z $ W mean?

ARZASBIITEHABH I, A#BFITEHFA BHAAMSEINARA*BF I HA BRI DAL AX # Y * Z § W 7 0am 37 2
Options:

1) W is X's brother's wife

W, X & 8778 & gt &

2) W is X's wife

W, X T TeiT &

3) W is X's mother

W, X Hrar g

4) W is X's sister

W, X T agT &

Correct Answer: W is X's brother's wife
W, X & #11$ T gl &

Candidate Answer: W is X's brother's wife

W, X & 818 &7 gt



QID: 36 -

Select the missing number from the given responses

o o fareedt 3 @ o W g

4
7 10
7 12

Options:
1)3

3)-3

4) 11
Correct Answer: 11
Candidate Answer: 11

QID : 37 - Which of the following terms follows the trend of the given list?

OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,
frafafla # & i & e &r a1t Il & FH & AR §?

OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,

Options:
1) XOXXXXO

2) XOXXXOX
3) OXXXOXX

4) OXXXXX0
Correct Answer: OXXXXX0
Candidate Answer: OXXXXXO

QID : 38 - A scientist is studying the behaviour of an ant. The ant picks food and walks 5 cm North, then it turns to its right and walks for another 11 cm. then it
turns right and walks 3 cm, then it turns West and walks 15 cm, then finally it turns to its left and walks 2 cm. Where is the ant now with respect to its starting
point?

U dmifereh <fifeall & AR BT HEAAA T T@T | HE WAT 3SR 5 HERNER Jcc Y AR Terehr & 3R Y g arfeey 31T A3 11 A Trerch &1 7R 7 o
e 3R F3e 3 AT Tareht ¥ 3 R’ 715 afRarsr i 3R Fga 15 FEeT Taclt §1 3 & 78 3r9ey a8 31N sl & 3R 2 FEfeT =roreht 1 i 3 3roehr
IR TRl & @t 2

Options:

1) 4 cm East

4 e &

2) 26 cm West

26 HEHRT aiRaH

3) 4 cm West

4 FEHARY aiRaH

4) 26 cm East

26 HEHER 7

Correct Answer: 4 cm West

4 FEHAR aitaH

Candidate Answer: 4 cm West

4 FEHe aitas

QID : 39 - Two football players start running from the same point on the ground. Player A runs 10 km East, then turns to his left and runs 13 km. In the meanwhile

Player B runs 6 km South, then he runs 3 km East, the he turns to his left and runs 19 km. Where is Player A with respect to Player B?

& freater st Here & ven & g & Slsar uret ada &1 Raamst A, 10 Rreliaiex & &1 3T alsar § 3R fihe a8 31k Fga 13 freiefiex alsar &1 36 aa Rand B,
6 Traltefe ZTaToT & 3R =refar & FT R 3 Rreleliex g 1 3R wrerdm & 3T R 379l a1 3iR Hge 19 Rreeliex atsar &1 RamsY B & wHest 7 fBamdr A #gi 87



Options:

1) 7 km West

7 feraieiey aRas
2) 7 km East

7 fralreiex g

3) 13 km East

13 fpeiefey 9

4) 13 km West

13 fereeex aftas
Correct Answer: 7 km East
7 ey @

Candidate Answer: 7 km East
7 e @

QID : 40 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: Some chapters are physics
Statement II: All science is physics

Conclusion I: All science is chapters
Conclusion II: Some physics is science

9T 7 & FU o 1 § foweh 3m e fasey 1 3R 11 femrer a1 €1 3Taeht AT § 3 9l $2 T § O 98 AEad: A1 a2t et uod g1 gf| 3maehr ot
FAT & T T 1w st & & Fia-an/Hia-d Riad 9 T HUT aRT TEY AT ST Tehell &/Thd &, I FS &N

FYA It TS 3T S §
Fy II: Foft e sefifaedr &

forsay I: Tt faamet sreamr §

s II: Fo iy e §

Options:

1) Only conclusion I follows

Fae AsHY [T &

2) Only conclusion II follows

Faer fasehy 11 T &

3) Both conclusions I and II follow

gt fshy [ AR I T g

4) Neither conclusion I nor conclusion II follows

o1 A ey I | § 7 8 sy 11

Correct Answer: Only conclusion II follows

Fad Ay I T &

Candidate Answer: Only conclusion II follows

Fael fashy I T &

QID : 41 - In the question three statements are given, followed by three conclusions, I, II and IIIL. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All success is victory
Statement II: All luck is success
Statement III: Some hard work is luck

Conclusion I: Some success is hard work
Conclusion II: Some hard work is victory
Conclusion III: No victory is luck

92T & et e & a1 & Foreh 3mmer it frsend I, 11 31 I fXenrer a1 €1 319! ATt & 6 el el T § IR 98 ArAgd: A1 a2t O fest gaid g1 el
3Rt fAuT et § 1 T aTv Tt & & sle-an/Fia-a Afad &9 F FU carT & e S awhdr §/awd €, i H1% 8

FuA I: Tl goherar oo &
FYA II: T 79T TheldT &
FYA 1L TS Aeeld 997 §

e I: T FFadT #ead §
farsd II: o Ageld ThelaT &
sy II1: 1S AT s 781 &



Options:

1) Only conclusions I and II follow
Faor fsHy [ I TEr g

2) Only conclusions II and III follow
Faer Ty 11 3R 11 T &

3) Only conclusions I and III follow
Faer fsemy [ 3R I adr &

4) All conclusions I, II and III follow

et sy 1 11 AR I |Er g

Correct Answer: Only conclusions I and II follow

Fad Asry [ 3R I TEr g

Candidate Answer: Only conclusions I and II follow

Fae sy [ AR 1T /e 8
QID:42-
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

frfeRad TR 3TTpfr 7 & Bie AT a ey ¢
STTEfeT et & & ST ol ST Fehel1?

O
X




Options:

& & & &0

Correct Answer:

&0

Candidate Answer:

&0



QID:43-

Which of the following answer figure patterns
can be combined to make the question figure?

Pt e ot & 4 @i & wfred a1
igenY T TG e AT Y ST T T 87

Options:
1)

2)
3)

4)
Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID: 44 -
In the following figure, square represents
Professors, triangle represents Social
Workers, circle represents Dieficians
and rectangle represents Men. Which
set of letters represents Dieticians who
are not men?

R e o o, ditrered o uefifer awen €,
By Ao i B vEfia e &, I SR
Y i i qost Y wafdia aver 1 st o @t
TE I SRR BT afdd awar

& il g 3 &2

: @m D




Options:
1) EFGI

2) BDKH)J
3) IGAC

4) DEJI
Correct Answer: EFGI
Candidate Answer: EFGI

QID: 45 -
Which of the following Venn diagrams represents the
relationship between Butterflies, Animals and Insects ?

frefarRaa 5 & o= @1 99 R Raferl, seerT ik Hiel
P e Hay 97T 87

Options:
1)

©

2)

©

O
3)

&

4)

S
Correct Answer:

©

Candidate Answer:

©



QID : 46 -

Which answer figure will complete the pattern in the
question figure?

frferRae & & SiF- IR sl war phy F wfiiea

T ORT B2

L/

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




QID:47-

From the given answer figures, select the one in which
the guestion figure is hidden/embedded.

<1 TRt ITR SRl H ¥ I i Bl gAY R m
iy e &

N\

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




QID:48-

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T SHRIT 7 fERETY SR B Bl TS ST
BT PR TAT W & a1G I8 6 ITR SAHHT St
g 2

Options:
1)




QID: 49 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

Ife U gdur Y MN %G1 0= X1 o at &) =it ST
ST foraY 7 A - ATBT T rrepfey b1 T
wferfee grfi?

@,

Options:
1)

\}

2)

A

3)

X

4)

&,

Correct Answer:

Z,

Candidate Answer:

Z,




QID: 50 -

Avword is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-1I
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'C' can be represented by
43, 41 etc and "0’ can be represented by 97, 78 etc. Similarly, you have to
identify the set for the word "SPAN".

U 91es énefed e AAI-AE EIR S AT 8, SR i Rrepedt 5 4 Rt e
T ey &1 Rt A R o wiear-ange st i & it g quie o &, S for Ry
T 2 FTCHE! H ) ITEE-| & TR 3 Ui B S 0 4 4 o sl BT 5 9
81 57 STIEET H U S7EN DT IEe SHbT Ufh TR &S  FP ST g ST o
FHI &1 BRI & 70 'C BT 43, 41 IS GIRT SATAT ST WPl § AT O B 97,
78 T T ST 9 waar & 5t ave W At vy F B ges 'SPAN' W fére
HHE T TR 2

Matrix | ] | Matrix Il _STEGE-N
7

L= el Bl 0 o 1=

A== lZ 2|

~(=|mie|m|&

S IVR ENRIEE Bl -}

w om |~ o e
cixlwl=z|n
o= =D

<|=lalc|z|e
el il B - L ]

F 5oy () PR =3
BlE|E-|2~
o [l Bl B B 1

Options:
1) 66,87,33,56

2) 59,78,42,31
3) 86,89,32,55

4) 78,43,22,98
Correct Answer: 86,89,32,55
Candidate Answer: 86,89,32,55

QID : 51 - Preliminary expenses are the examples of

IRTEsT = T 3ETe0T B
Options:

1) Capital expenditure

Fofera o

2) Capital gain

GMaTe eITer

3) revenue expenditure

ol Ed I

4) deferred revenue expenditure
Tufa TorEa s

Correct Answer: Capital expenditure
AT =T

Candidate Answer: revenue expenditure
oTFd I

QID : 52 - Which economic activity cannot be included in the tertiary sector?

e a1 3 FieT T 3R aifafafr enfirer 76t 1 S wedl?
Options:

1) Working in a call-centre

HicT eI H HTT AT

2) Tuition occupation

TIRI ST

3) Bee-keeping

FHEHFHT Tl

4) Banking

dfhar

Correct Answer: Bee-keeping
FYAFYT qTefet

Candidate Answer: Tuition occupation
TN ST



QID : 53 - Which of the following statement is true for the Public Sector Unit?

rAfaf@d & d Fia a1 FyeT TS 876 518 F v T@ {2
Options:

1) Most of assets is owned by a group of people

FTRrerter aRETTceT 1 FaTfdea el & Fag & 919 glar &

2) Most of assets is owned by big companies
Jrftrenrer R fedar 987 FHafert & Farfaca # gidr g

3) Most of assets is owned by government

Jiftrerer IR e SRR FaTfAcd # gidr &

4) Most of assets is owned by an individual

Jiftrerer aREqfeaa ve Safed & 919 gidr &

Correct Answer: Most of assets is owned by government
Jif8erer IR e ERERT FaTfAcd # gidr &

Candidate Answer: Most of assets is owned by government

siftrenter aREafcaar TR FarfAca # gidr &
QID : 54 - The percentage of India's population in the total population of the world as per 2011 census is:

2011 T SFAIUTAT & AR SR T SITHEAT faIed T AT i fehciet gfaerd &2
Options:

1) 17.5%

2) 18.01%

3) 19.35%

4) 20.25%

Correct Answer: 17.5%
Candidate Answer: 17.5%

QID : 55 - Which of the following five year plan of India recognized human development as the core of development efforts?

frafafaa & & v SR Jaadfa BT o Tsft emarcAs garat & IR & &9 F AT AR T AIdr &7
Options:

1) Eighth five year plan

3Tedl Tty et

2) Ninth five year plan

AT daadtT drster

3) Tenth five year plan

Eadt daadfT Jsrr

4) Eleventh five year plan

TAREST JoastT Irster

Correct Answer: Eighth five year plan
3Tt JeadtT T

Candidate Answer: [ NOT ANSWERED ]

QID : 56 - Which of the following thinker is associated with "the concept of political sovereignty"?

SoTH U et faweh "Trofelfcleh F8{@ca i Hehoua1T" & Heeiferd €7
Options:

1) Maclver

HeEa

2) Socrates

HhId

)

3) Rousseau
war

4) Plato
e

Correct Answer: Rousseau

w4r
Candidate Answer: [ NOT ANSWERED ]

QID : 57 - Who said, "A good citizen makes a good state and a bad citizen makes a bad state"?

ToRE=T heT T, 'Teh 370 AP Ueh 3BT AT FAlcll & 3R T AR Teh G AT FaATcT 87
Options:

1) Plato

cra

2) Aristotle

HTE]

3) G. B. Shaw

SirdT. af

4) Rousseau

T



Correct Answer: Aristotle
3TET

LN

Candidate Answer: [ NOT ANSWERED ]

QID : 58 - Panchayat Samiti at the block level in India is a/an

HRA H selleh TR T =i T Al &, I
Options:

1) Advisory Body

U HAGHR e

2) Coordinating Authority only

e H-GT JITHIOT

3) Supervisory Authority only

Faer gIaeft grfreRioT

4) Administrative Authority

gemrafeeE wiftEer

Correct Answer: Administrative Authority

RS TrfieRIoT

Candidate Answer: Administrative Authority

gemHAS wfeRIoT

QID : 59 - According to Indian Constitution, who decides the salary of members of Parliament?

HRC HRAUT % AR, HEE & HEEAT & die b (0T ief adar 82
Options:

1) Union Council of Ministers
FErr AfFaRYe

2) Parliament

par:res

3) Supreme Court

FTITH AT

4) President of India

HRT T Tsgufar

Correct Answer: Parliament
par:ry

Candidate Answer: Parliament
par:ry

QID : 60 - Which one of the following is not correctly matched?

fafaf@a # #ia a1 v g gafad et 82

Options:

1) Eighth Schedule : Languages

TS T : STTE

2) Second Schedule : Form of Oath of office

Sa{T IR ¢ ATy I

3) Fourth Schedule : Allocation of seats in Rajya Sabha
ST 1T : T THT H TATaAT T T

4) Tenth Schedule : Defection related provisions

EHT A : Gel-See HeHh gratTe

Correct Answer: Second Schedule : Form of Oath of office
AT 3T ¢ ATy YT

Candidate Answer: Second Schedule : Form of Oath of office
S STTeEll © ATy IRy

QID : 61 - When did the Chinese traveler 'Sung Yun' come to India?

Al AT I T AR e AT AT?
Options:

1) 510 AD

510 8.

2) 518 AD

518 8.

3) 525 AD

5258.

4) 528 AD

5288.

Correct Answer: 518 AD
518 3.

Candidate Answer: [ NOT ANSWERED ]



QID : 62 - Which among the following state 'Odantpuri' education center was situated?

e qlr T g Mefaf@a A A ra s A safeyaar |
Options:

1) Bengal

Eoich

2) Gujarat

TSR

3) Bihar

[EEIRY

4) Tamil Nadu

affees

3

Correct Answer: Bihar
faER
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - Who was the founder of Bahmani Kingdom?

TEHAT ATHTST T TEUTTS il AT?
Options:

1) Hasan Gangu

& 3T

2) Firoz Shah

RS 2amg

3) Mahmud Gawan

HgHE &t

4) Asaf Khan

3% Tl

Correct Answer: Hasan Gangu
EED

Candidate Answer: [ NOT ANSWERED ]

QID : 64 - During whose rule in India did the Khilafat movement begin?

R 3 Foheieh QT & JHeialcT fEeTheT e oleT T 3RS G312
Options:

1) Lord Mountbatten

dfs ASedes

2) Lord Dalhousie

d1S gerglslr

3) Lord Chelmsford

S IFawS

4) Lord Curzon

TS ot

Correct Answer: Lord Chelmsford

JS IFaHS

Candidate Answer: [ NOT ANSWERED ]

QID : 65 - Who among the following was the founder of the Arya Mahila Samaj in the early 1880s?

1880 & &I & YRFST & 3T AfGAT TATS T TUTIAT 338 F fhag=r 17
Options:

1) Swami Dayananda Saraswati

FATHAT GTeTog, TRETAT

2) Swami Vivekananada

AT faasTeteg

3) Ramabai Ranade

THTSTS TS

4) Pandita Ramabai

f3dr e

Correct Answer: Pandita Ramabai

LIESIRCICIES

Candidate Answer: Swami Dayananda Saraswati
FATHT gTeTog, TXETAT

QID : 66 - Dasht-e Kavir Desert is located in which country?

2T-U-faR HEEU S forg o7 & f&ra &2



Options:

1) Iran

i

2) Saudi Arab
T IRT

3) Iraq

_h

4) Sudan

L EIGH

LN

Correct Answer: Iran

S

Candidate Answer: [ NOT ANSWERED ]

QID : 67 - Which of the following layers is called "Barysphere"?

rafafed # & fFg a #1 "sSIEhRR" FH@l SI1ar 72
Options:

1) Earth's most internal layer

G2l T Fad 3R Tl

2) Earth's intermediate layer

gl i AEdt W

3) Earth's topmost layer

g2l T F FHT Rl

4) Lowest part of the atmosphere where climate changes occur
ATGFHSS FHT G el 197 STl HFH IRl gt 8.
Correct Answer: Earth's most internal layer

g2l T Fad IR Tl

Candidate Answer: Earth's intermediate layer

g2l T Al W

QID : 68 - The Blue Nile river originates from which of the following lakes?

o ot T et 7 & forw Sier & epercty 82
Options:

1) Lake Victoria

eI sfrer

2) Lake Tana

T gher

3) Lake Edward

wsas o

4) Lake Albert

3reac sier

Correct Answer: Lake Tana

arar i

Candidate Answer: Lake Victoria

fareifar sier

QID : 69 - Which of the following states of India has the largest percentage of geographical area under forest as per the report of the Forest survey of India?

HRC T HSETOT T RNE & AR R & Feaafafla & & fra T 7 sltanfores a7 1 #aiftids uforrd &= &7 82
Options:

1) Manipur

Aoy

2) Meghalaya

HETeRT

3) Mizoram

IGEIRG

4) Nagaland

ATMMvs

Correct Answer: Mizoram

faeiRa
Candidate Answer: [ NOT ANSWERED ]

QID : 70 - At which of the following towns the Alaknanda and the Bhagirathi combines to form River Ganga?

Aefaf@d FoRT 7 3rerheteer Ta 9N Fgl Aere 316N AT a1y 87



Options:

1) Haridwar

gheanr

2) Rishikesh

Fiher

3) Rudraprayag

FEYIATIT

4) Devprayag

gavamer

Correct Answer: Devprayag

a9
Candidate Answer: Haridwar

gRear

QID : 71 - 'Nirvana Fund' was set up by NSDC for financial help to

TATHSIHT SIRT fAafior S’ Y FUTEr T faeTar AT JeTeT Tal & 1 978 o)
Options:

1) Entrepreneurs from the bottom rungs of society

FATS F Fraer REw & seafAat

2) Displaced Kashmiri Pandits

e wedART afsar

3) Old age people having no means of livelihood

NI ot ot e Shfahr ot i aereT =1d &

4) Ventures of selected candidates trained under PMKVY but did not get any job.

NTHFATING & 3iderd Tl 3R IR 3Fear 8 18 AR =181 Far

Correct Answer: Ventures of selected candidates trained under PMKVY but did not get any job.
NTHAFAINE & 3iTeid gafaa 3T gRIfET 3Ficar 98 1S AR =8 Bar

Candidate Answer: [ NOT ANSWERED ]

QID : 72 - Nakul Swasthya Patra' is a scheme by the Government for which among the following purposes?

Trfafla # & fhe 3397 &1 I & fAT IR SR @Rt ‘e Fareed I’ A1t % 6T a1 87
Options:

1) Wellness of animals

T3 & FAELT Y WA &

2) Wellness of animal owners

] AT & FAELT T ST 8

3) Taking care of lactating mother in the rural areas

T 87 #H S i gy Rremer arelt AT & TarEeT H SwHe &g
4) Taking care of newborn babies in the rural areas

AT &5 F AaroiTel RIL3HT & TS T ST 8

Correct Answer: Wellness of animals

TY3HT & TAELY HI STHIA 8

Candidate Answer: Taking care of newborn babies in the rural areas
TTETT &5 F Aaroiid RIY3T & TAL HhT ST B

QID : 73 - Which mine of India was in the news recently for becoming the country's first iron-ore mine to have a solar plant for reducing carbon footprint?

R T FHlA-3T T Flelal Defic FHH Fat & TIT HR TAT T FUTIAT Fa1 ATelr &2 T 5AH Fil6-310EH Tl glet & HROT 8Tl &1 H ATl TEN?
Options:

1) Talchar mine

BEERRCHE)

2) Koraput mine

HRYT el

3) Noamundi mine

GIEICEIRCCC

4) Ratnagiri mine

TATRRY @eTeT

Correct Answer: Noamundi mine
ANHTHE TeTet

Candidate Answer: [ NOT ANSWERED ]

QID : 74 - Where will the Summer Olympics be held in 2028?

rsHBTAA 3P TeT 2028 F el ITANTAT FhaT FATTI?



Options:

1) Sydney

IRiEC

2) Paris

Ra

3) Los Angeles

dre aferew

4) Copenhagen

FidgareT

Correct Answer: Los Angeles
arg ufaed

Candidate Answer: [ NOT ANSWERED ]

QID : 75 - Which country has won the 2017 Davis Cup Tennis Tournament?

STaw 9 & gaie 2017 T &er o Sfar 82
Options:

1) Switzerland
FEsRels

2) Serbia

gfaar

3) France

i

4) Belarus

CEi:]

Correct Answer: France
o)

Candidate Answer: [ NOT ANSWERED ]

QID : 76 - “You are Unique” is written by

IR I gEn o 9 g
Options:

1) Dr. A. P. J. Abdul Kalam

ST, T 1. 1, 3reqe FHend

2) Khushwant Singh

gerad e

3) Taslima Nasrin

TEAHT AT

4) Arvind Adiga

3fag feer

Correct Answer: Dr. A. P. J. Abdul Kalam
st 1. Y. 3. 3eqe Fere

Candidate Answer: [ NOT ANSWERED ]

QID : 77 - The third Indian Council for Cultural Relations (ICCR) Distinguished Indologist Award for the year 2017 was awarded to Japanese professor .

T 2017 % AT T AR Sieg e deY aRve (1.97.6.9.) [fire saRafag @A St g 1 feam = gl
Options:

1) Hiroshi Marui

TRl 7S

2) Shimamaru Marui

AT 7S

3) Nagasaki Marui

ATTATR AFS

4) Toyota Marui

e A

Correct Answer: Hiroshi Marui
SEIE

Candidate Answer: [ NOT ANSWERED ]

QID : 78 - Which of the following city has became first Indian city to get UNESCO’s world heritage city tag?

Fafafa & & Fier AT e Jareent T faea R AR T &7 TIe H¥el aTelT TR T T AT &7 I 87



Options:

1) Jaipur

SR

2) Ahmedabad

HEHACTEIG

3) Gandhi Nagar

T IR

4) Allahabad

ECIREICY

Correct Answer: Ahmedabad
HgHCTSIG

Candidate Answer: Ahmedabad
HgHCSIG

QID : 79 - In June 2017, which of the following countries have signed a protocol of co-operation in the field of archive?

ST 2017 #, Fatai@d 7 & et Gl o SHOERTR & &1 37 HgdieT & folv U dicisid W g6aei e 87
Options:

1) India and Israel

AR AT SRS

2) India and Portugal

R AT eiaTTer

3) India and Netherland

AR T Feels

4) India and Iran

SR T §X=T

Correct Answer: India and Portugal

IR T qeFaTTel
Candidate Answer: [ NOT ANSWERED ]

QID : 80 - India has signed an agreement to provide USD 318 million as line of credit for developing railway sector of which of the following country?

FATafld & & fFT 27 &1 TR o {9 817 & 3o & v 318 TATaa 38RHT sfeRk I hise oTgeT T TeradT Fel & T v Toeiiar fhar &2
Options:

1) Bangladesh

AT

2) Nepal

AqTer

3) China

e

4) Sri Lanka

Hreier

Correct Answer: Sri Lanka
Hroient

Candidate Answer: [ NOT ANSWERED ]

QID : 81 - Dot Matrix is a type of .

sicAftFm &1 UF TER B
Options:

1) Tape

&g

2) Disk

I

3) Printer

R

4) Bus

TH

Correct Answer: Printer

ez
Candidate Answer: [ NOT ANSWERED ]

QID : 82 - The secondary storage devices can only store data but they cannot perform

i WgUT 3UHOT el STET Hafed & Tehel § W a6 TET T Fhel B



Options:

1) Arithmetic operations

JiRarTorc Rt

2) Logic operations

aifée aREmere

3) Fetch operations

g gRErer

4) All options are correct.

sl faspe @ €1

Correct Answer: All options are correct.

T e wdr €1
Candidate Answer: [ NOT ANSWERED ]

QID : 83 - In the modern periodic table metals, metalloids and non metals are found in which block?

Fmyfes et ARl 7 U1, 3UUT, TUT g R selie o 9 ST 87
Options:

1) s-Block

s-selleh

2) p-block

p-salidh

3) d-block

d-saiten

4) f-block

f-sclieh

Correct Answer: p-block
p-selish

Candidate Answer: p-block
p-selidh

QID : 84 - Cinnabar is ore of which of the following?

PEEd § ¥ ReeR e /e 8?7

Options:
1) Magnesium
FHefRme

2) Aluminium

-]
3) Mercury

Correct Answer: Mercury

g

Candidate Answer: Mercury

g

QID : 85 - In which of the following mirror size of image formed is always equal to the size of object?

rafafla & & ®ia ¥ gdor # uiafers &7 3THER AT 979 & HHR & TAT glar &2
Options:

1) Convex mirror

EGERAC

2) Concave mirror

Hadd ggur

3) Plane mirror

FHAIT gduT

4) Both convex and concave mirror

3ol SUOT AT 3/add guuT gt

Correct Answer: Plane mirror
HHATST ggoT

Candidate Answer: Plane mirror

HHATST g9oT

QID : 86 - Mass of a hydrogen atom is how many time the mass of an electron?

TS BISIISTeT TRATY] T G U SAFLIe & GEAA T FhctaAT [T BIetr &7



Options:
1) 1000

2) 8000
3) 1837

4) 5000
Correct Answer: 1837
Candidate Answer: [ NOT ANSWERED ]

QID : 87 - Which of the following are Fabrics that may contain polyester?

1. Polycot
II. Polywool
III. Terrycot

AT & A FlT @ Fust F gfefuee &) Tehar §?

L. gfforex

11, 9ifaqa

111 i
Options:

1) Only I and II
haol I dam 11

2) Only I and III
hadl I 2T 111

3) Only IT and III
haol IT T 11T
4) All 1, 11 and III
1, II 2 111 Tefr
Correct Answer: All I, IT and III
1, I 2 IIT sy

Candidate Answer: [ NOT ANSWERED ]

QID : 88 - Which of the following term does NOT represent electrical power in circuit?

fRrafaf@a & & i ar ve Regd aRuy # Regd afed # Refd @@ sar
Options:
1) IR

2) IR?
3) VI

4) V3R
Correct Answer: IR?
Candidate Answer: [ NOT ANSWERED ]

QID : 89 - A positively charged particle projected towards west is deflected towards north by a magnetic field. What is the direction of magnetic field?

afRes &1 IR TaTa FI$ taa R For forel Jashner a1 gaRT 3eork #1 3R I8 87 Srar &1 daehrr & 7 e w2
Options:

1) toward south

&fgroT 1 31

2) toward east

TG 3

3) downward

el

4) upward

3RAET

9
Correct Answer: upward

i

)

Candidate Answer: [ NOT ANSWERED ]

QID : 90 - Which of the following is NOT positively charged?

FrafafEa # § Fi9 gaafid @@ 82



Options:

1) Alpha particle

3T T

2) Proton

el

3) Helium nucleus
RIGREIEE

4) Electron

EREC

Correct Answer: Electron
gelerglel

Candidate Answer: Electron

golFgl
QID : 91 - Which is a water soluble Vitamin?

et AT faeTffieT STor 7 goferelier &7
Options:

1) Vitamin A

afaa A

2) Vitamin C

afa= C

3) Vitamin D

o= D

4) Vitamin K

afaa K

Correct Answer: Vitamin C
Rafas

Candidate Answer: Vitamin C
ferfd=r C

QID:92-
Match the items given in column (A) with those in
column (B).

Column-A Column-B
. Frog 1. Skin
II. Leaves 2. Stomata
lll. Earthworm 3. Lungs and skin

H (F) #F Y 7 qeEl &7 =1H (@) F 9
e fifaw

HH-& HH-°
. Ak 1. T
. aferar 2 &
I, dgam 3. &Fz FUT o=
Options:

1) I3, II-2, I1I-1
2) I-1, I1-2, III-3
3) I-3, II-1, II-2

4) 1-2, 1I-1, I11-3
Correct Answer: 1-3, II-2, III-1
Candidate Answer: I-1, II-2, III-3

QID : 93 - How many number of chambers are there in human heart?

AT 5T H it 1 GE&AT el gl &2



Options:
1) Two
ar

2) Three
Gic

3) Four
IR

4) Five

o

qrT

Correct Answer: Four
IR

Candidate Answer: Two

ar

QID : 94 - Which of the following is NOT present in a matured stomata?

T gaEh (Y F efaf@d F @ e a1 3uftyd ¢t @ar 82
Options:

1) Plasmodesma

Siageaeiq

2) Chloroplast

[IGEEED

3) Cell wall

TR Afca

4) Vacuole

IIEGED

Correct Answer: Plasmodesma
Gﬁﬂa?éﬁi?_[

Candidate Answer: Cell wall

AR CaRE: =

QID : 95 - What is/are the cause(s) of arise hypermetropia?

& TR &Iy 1/ FAT HROT /2
Options:

1) Excessive curvature of the eye lens.
31T g Fr gondT & 3110 gl

2) Elongation of the eye ball.

SATcTeh T Tl BleTT]

3) Focal length of the eye lens is too long.
3o 3w B e gl F iR @l

4) No option is correct.

1S fased @l w1t 81

Correct Answer: Focal length of the eye lens is too long.
T S T P ol T 3R gl
Candidate Answer: [ NOT ANSWERED ]

QID : 96 - Antibiotics are useful for which type of infections?

FRE GHR & GHAUT & fIU CErifeas omeiers g §?
Options:

1) Only bacteria

Fheel SaT]

2) Only virus

hael fawTy

3) Both bacteria and virus

Sfaroy &t fawTop et

4) Neither bacteria nor virus

& Sfiarop o €1 fawmop

Correct Answer: Only bacteria

hefel STy

Candidate Answer: Both bacteria and virus
Sfraro crT fersrop gt

QID : 97 - Which one of the following is NOT responsible for water shortage?

AT & & FeT 6T FRE FTol T HAT & TIT IeaerR 71dt &2



Options:

1) Rapid growth of industries
Seaferor # g

2) Increasing population

g STaEaT

3) Forestation

FeRIgoT

4) Mismanagement of water resources
el HHTY=AT T A

Correct Answer: Forestation

FeRIIOT

Candidate Answer: Forestation

FeRIqoT

QID : 98 - Which gas is major contributor to greenhouse effect?

e & 3 eRE vera & GaW WS FeTET H 82
Options:

1) Carbon dioxide

FIeT STSITFATSS

2) Chloroflurocarbon

FARTFAR BT

3) Sulphur dioxide

T STE3TFATSS

4) Nitrogen dioxide

AT STSHTFATSS

Correct Answer: Carbon dioxide
FIeeT STSITFATSS

Candidate Answer: Carbon dioxide
FIeT STSITFATSS

QID : 99 - Which of the following is NOT a major problem in development of resources?

frfaf@a # & Hia a1 wwmet & e 7 ger e a8 2
Options:

1) Depletion of resources for satisfying the greed of few individuals.
FE T i/ STTaae T T & |

2) Accumulation of resources in few hands.

F© Tl & gTY 3 FETe=AT T T |

3) An equitable distribution of resources.

HHTEAT T FATS H #AITITT ScaRT|

4) Indiscriminate exploitation of resources.

THTEIAT T JHEMEIET QMSoT|

Correct Answer: An equitable distribution of resources.
HHTEAT ST FHATS 3 AT FarT|

Candidate Answer: An equitable distribution of resources.
HATAT ST FATS H =TT ScarT|

QID : 100 - Which of the following is NOT man made ecosystem?

rAfaf@d & & w9 a1 Ag FHAT TREufad a7 78 &2
Options:

1) Orchards

3T

2) Home aquarium

] ASATER

3) Botanical gardens

FAETT-3eTeT

4) Grassland

T T et

Correct Answer: Grassland

T T ATl

Candidate Answer: [ NOT ANSWERED ]

QID : 101 - Which of the following represent the crushing strength (MPa) for the good quality stone that are used in the construction of buildings?

frAfafla # & w1 d Heoe el SARG! & AT & Suiar R STt aTer IresT I[UTacdT & TR HI Geifelr 82



Options:

1) Less than 20

20 ¥ &

2) 20 to 60

20 & 60

3) 60 to 80

60 & 80

4) Greater than 100
100 & 31fEw

Correct Answer: Greater than 100
100 & 31f8=

Candidate Answer: Greater than 100
100 & 318

QID : 102 - Which of the following is examined to determine the age of timber?

AT & F Fi T T Tohd) $7 37 TR & & e $7 A 82
Options:

1) Annular ring

FsesR N7 (3ger Rar)

2) Sapwood

dgs

3) Pith

afea

4) Timber defects

gy S et

Correct Answer: Annular ring
FseTsR T (3ger Rar)
Candidate Answer: Annular ring
Feerehrt a7 (3R Rar)

QID : 103 - Which of the following is determined with the help of Le Chatelier’s device?

rafaf@a & & g AYRoT o PRI (Le Chatelier) & ITHIOT & FA9T & FoRaT STTaT 872

Options:

1) Abrasion resistance
Yo7 FaRIET

2) Chemical resistance
T S FfaRrer

3) Soundness

gadr

4) Strength

FHSTIT

Correct Answer: Soundness
gadr

Candidate Answer: Soundness
gadr

QID : 104 - The type of mortar which is used for the construction works carried out in water-logged area is .

STAIET &5 7 AT St & T IuAeT Hr A arel AR T JhR §
Options:

1) cement mortar

e AR

2) loose mortar

T AR

3) mortar of very low consistency
g A FEeRaT T AR

4) mortar having high w/c ratio

I w/c AT T AR

Correct Answer: cement mortar
e AR

Candidate Answer: cement mortar

e AR
QID : 105 - For M 25 grade concrete, the split tensile strength in terms of percentage of its compressive strength is .

M 25 A3 Sehre & AT, sadHr ufaud Tl a@zd & Tegsf & JQanfead draaraa )



Options:

1) 7to 11%

78 11%

2) 18 to 28%

18 & 28%

3) 28 to 38%

28 & 38%

4) 38 to 48%

38 & 48%

Correct Answer: 7 to 11%
78 11%

Candidate Answer: 18 to 28%
18 & 28%

QID : 106 - Distempers are generally used to coat .

HHAR W BEER &I % o % folw J21eT fohdT ST 8
Options:

1) compound wall

FHUT3E Tl

2) external concrete surfaces

STET FHIT TAE

3) interior surface which are not exposed to environment

IedReh Tdg T TATIROT & T # 78T gy &

4) wood works

AT & B

Correct Answer: interior surface which are not exposed to environment
e TdE ST TATGROT & T & 81 gy &

Candidate Answer: interior surface which are not exposed to environment

TedReh TdE S TITEROT & TG & AT 8T &

QID : 107 - Which of the following is commonly used as retarder in cement?

Arafaf@a & @ #19 deie 7 Rest & &9 7 seaars fhar srar 8?2
Options:

1) Calcium sulphate
Fioaaa gehe

2) Gypsum

IEi=Ea

3) Potassium carbide
TR FETgs

4) Sodium chloride
ST FARSS

Correct Answer: Gypsum

IEisE

Candidate Answer: Gypsum

orega

QID : 108 - In the process of hydration of OPC, to complete all chemical reaction, the water requirement (expressed as the percentage of cement) is .

3IRAN(OPC) Fr STeria=I(gTsgere) wismar , Tl Tarfas ufaframst # i e & v (Fede & ufaerd & &9 ) 9=i 1 smaeaema g
Options:

1) 5t0 8%

5% 8%

2) 8 to 16%

8T 16%

3) 20 to 25%

20 & 25%

4) 35 to 45%

357 45%

Correct Answer: 20 to 25%
20 ¥ 25%

Candidate Answer: 35 to 45%
35 d 45%

QID : 109 - The slump test is performed to check the .

37TUTT IRETOT (TiT ¢TT) $r S & v foRam STar g



Options:

1) presence of water in cement

ete & gl fir sufeafa

2) ratio of concrete ingredients

shie FTHAT & 3Tl

3) temperature resistance

arg gfaRier

4) workability of concrete

Fshlc S cTgRIAT (FhafardT)

Correct Answer: workability of concrete
FEhIc HT STIGRIAT (ThTafere)
Candidate Answer: workability of concrete

FEhIc T caagrIdT (FhfafarT)

QID : 110 - The reason behind the low expansion and shrinkage of the plywood is

TS & HH FAEAR 3R s 1 FHRor gl
Options:

1) plies are placed at the right angles with each other
TS U A W HHRBIOT ORI S &

2) they are glued under the high pressure

9 3% &o19 & qgd 3 g Rk

3) they are held in the position with the help of adhesives
q Rraehet aTer TaTe @1 Aag ¥ 9 Ul 7 smafad

4) they are prepared with the help of veneers

J TEGR e § AR Ry aw §

Correct Answer: plies are placed at the right angles with each other
OIS T GER § FHAIOT O TG Sl &
Candidate Answer: they are prepared with the help of veneers

J TEER e W IR Ry oo §

QID : 111 - Which one of the following method is used for the approximate estimation?

TrATARd & @ et o T fer AT Tt o ferw ger & Siefr 82
Options:

1) Both central line and short wall and long wall method
2) Central line method

A T gefa

3) Plinth area method

ECESERTAT

4) Short wall and long wall method

g §aR 3 ofet fam wefy

Correct Answer: Plinth area method

ECEERTAT

Candidate Answer: Central line method

FET X@T gEfT
QID : 112 - Accuracy in the measurement of the thickness of the slab or sectional dimension of column and beam (in centimetre) should be .

Tola ST HeTS AT Foiet 3R A & ST T (SR #) 1 A F gérndn g =g

Options:
1) 0.5

2)1
3)5

4) 10
Correct Answer: 0.5
Candidate Answer: [ NOT ANSWERED ]

QID : 113 - Deduction at T-junction of the wall for total length of the central line is .

HErT T@T BT Fo oiaTs F AT far H A=A o1 weld gl



Options:

1) half of thickness of wall

&R T AerS Fr 3mefr

2) no deduction

FIg Feldr et

3) thickness of wall

&R fT A

4) twice of the thickness of wall

&rar T AT & g

Correct Answer: half of thickness of wall
EIaR ST AT ST 3T

Candidate Answer: [ NOT ANSWERED ]

QID : 114 - For estimation of painted area of semi corrugated asbestos cement sheets, percentage increase in area above plain area is

31 ACNER TEEerd HHAE 2fe & T g 87 & 31T & Ty, Faeer 8 & 393 8 & gfaerd gfe 2l

Options:
1)0.1

2)0.14
3)0.2

4) 0.25
Correct Answer: 0.1
Candidate Answer: 0.14

QID : 115 - Scrap value of a property may be

e Fafea 1 3aRse qoa REETIN
Options:

1) both negative or positive

FOTCHS AT UlTcHE gl

2) constant

e

3) negative

FOMcHD

4) positive

ATcHS

Correct Answer: both negative or positive
FUTCHS AT YA Cler

Candidate Answer: negative

ROMcHD

QID : 116 - What is the unit of measuring cornice?

FRATT T AT FT FhTS FAT &2
Options:

1) Cubic metre

el HIeX

2) Number

HEaT

3) Running metre

Tfelar Hrex

4) Square metre

a7 Hrex

Correct Answer: Running metre
Tfetar A

Candidate Answer: Cubic metre
el HeX

QID : 117 - Calculate the number of bricks in 20 cubic metres brick works.

20 =T Hiex ¢ 1T & St it Fear ¥ o Hifed|

Options:
1) 500

2) 1000
3) 10000

4) 100000
Correct Answer: 10000
Candidate Answer: 10000



QID : 118 - Calculate the area (square metre) of the formwork required for a beam of 2 m span and cross section dimension of 400 mm x 200 mm.

400 TArelaftex x 200 fArefiefex sy e i AT X 2 diex Ve & e & fAv sz @i & gawe (997 Hiex) H aorEr Hfs)|

Options:

1)0.8

2)0.16

3)1.2

4)2

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 119 - The cross section areas of three sections of an embankment at an interval of 40 m are 10 square metres, 15 square metres and 35 square metres.
Calculate the quantity of earthwork for the embankment. Use prismoidal method.

40 #EX % ATl W U T & et GEAT T AT HIT HT &7l 10 o e, 15 791 Hiex 3R 35 791 #iex §| deaer & v swier v ardy fAgh v o A
s R &1 392 H|

Options:

1) 1200

2) 1400

3) 1500

4) 2400
Correct Answer: 1400
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - Calculate the annual depreciation (Rs.) of a machine having initial cost of Rs. 10,000. The scrap value is Rs. 1,000 and useful life of 30 years.

& AT & AT Ao (¥) T 0T Fifory fawehr TR aeTd € 10,000, 3@ {ed & 1,000 3R 39T HTT &1 T 30 A1 &
Options:

1) 300

2) 367

3) 1333

4) 333333
Correct Answer: 300
Candidate Answer: 300

QID : 121 - What is the difference between the sum of interior angles of plane triangle and spherical triangle for area of triangle 195 square kilometre on the
Earth’s surface?

T2t T g R ST & 195 T fRailelex 877 % T Facer Bl & e Y AereR Henror & & & wrof & 7T 3e) 74T §?

Options:

1) one degree
s 3t

2) one minute
& e

3) one second
TF §FS

4) one radian

T 3T

Correct Answer: one second
TS T
Candidate Answer: [ NOT ANSWERED ]

QID : 122 - Which one of the following is the largest scale?

fFafaf@a & & #1 ar o 937 JA1=T 82

Options:
1) 1:500

2) 1:1000
3) 1:2500

4) 1 :50000
Correct Answer: 1 :500
Candidate Answer: 1 :500

QID : 123 - The quadrantal bearing of the line lies in the third quadrant making angle in clockwise with the north is

T G AT e =agfer 7 § 3R 3cast 187 & A1 faiomed Hior 0 Jeicl § ot 3§ Y@ h Fargea anRam @



Options:

1)

N(g-1 8[}:]°E

2) _
M(e-1 80]°W

3) .
S{e—1 8[}] °E

4)

S(e-1 8[}]°W

Correct Answer:
S{e-1 8[}]°W

Candidate Answer:
S(6-1 8[}]°W

QID : 124 - Calculate the volume of the embankment (in cubic metre) using trapezoidal method, if the cross section areas of the three sections of an embankment
at an interval of 30 m are 20 square metres, 40 square metres and 50 square metres.

T & A T ATAT (89T HeX ) FHeRarHR Fafer & RS, 7 30 #ex siwerrer W deatr & ey Rew! v sy sre H afawer 20 a9 #iex, 40 79 #ex 3k
50 a7 #iex B

Options:

1) 1100

2) 1150

3) 2250

4) 2350
Correct Answer: 2250
Candidate Answer: [ NOT ANSWERED ]

QID : 125 - Which one is the CORRECT order of the tapes based on their accuracy?

& T FERAT & TR I il TT haT TEY &2

Options:

1) Linen tape > invar tape > metallic tape > steel tape
foreiel 89 > $=aR ¢F > 4T ¢F > FEref ¢

2) Invar tape > steel tape > metallic tape > linen tape
$7aR Y > Tl T > U7 ¢9 > folelet ¢y

3) Metallic tape > steel tape > linen tape > invar tape
1 Y > Tl 9 > folelet ¢7 > gwaR 9

4) Metallic tape > steel tape > Invar tape > linen tape
1 Y > Tl T > SwaR T > folalel T

Correct Answer: Invar tape > steel tape > metallic tape > linen tape
§7aR Y > el &9 > o7 ¢9 > forelet ¢

Candidate Answer: Invar tape > steel tape > metallic tape > linen tape
§7aR T > el & > U1 ¢ > foeie e

QID : 126 - In the leveling between two points A and B on the opposite sides of a pond, the level is first set up near the point A and staff reading on A and B are
2.5 m and 2.0 m respectively. Then the level is moved and set near the point B, staff reading on points A and B are 1.2 m and 1.7 m respectively. Calculate the
difference of heights between the two points A and B (in metre).

rerTe T fau’ieT Fergl o e a7 fawgait A 3R B & sy FarcTer el 1 Ffshan #, T 1 Ig el fog A & I ST e W fig A 31 B T Fere QfEar shamer: 2.5 Hiex
3 2.0 #reT 3mel ¥ 319 T A g B & 91 of ST FATRIA Fet TR FeTs (e waren: 1.2 #irex 3R 1.7 #few ameh 8| g A 31 B & ey g & 3R it a1oreT (e
) &

Options:

1)0

2)0.5

3)1

4) 1.85
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

QID : 127 - Calculate the combined correction for curvature and refraction (in m) for a distance of 2 km.

2 foraieiex gt  fore asrar 3iR et (Fiex ) & o dged gur &7 e Hie|



Options:
1) 0.045

2) 0.135
3) 0.269

4)3.14
Correct Answer: 0.269
Candidate Answer: 0.269

QID : 128 - In transit theodolite, the line of the sight can be reversed by revolving the telescope through .

A RAEese F, & ATCTH § gfSe 1 3@T Fr ST aRerHuT ZaRT Iere foham T Tevar g1
Options:

1) 90° in horizontal plane

90° gifast aar &

2) 90° in vertical plane

90° FeaTeR aaT &

3) 180° in horizontal plane

180° &ifast qer &

4) 180° in vertical plane

180° FEaTER del

Correct Answer: 180° in vertical plane
180° FEATER Tl

Candidate Answer: [ NOT ANSWERED ]

QID : 129 - Which one is the CORRECT sequence for the temporary adjustment of the theodolite?

RIASSE & 3EATS TATASTH & [T il a1 FE 5 B

Options:

1) Centering, elimination of parallax, leveling, and setting

TG A, TlaeT HT Seoeled, A Fare, A Afear

2) Centering, setting, elimination of parallax and leveling

T e, AT, daet &1 eegere, 3R T qare

3) Setting, centering, leveling and elimination of parallax

@fdar, R =T, FHATT AT, 3R T FT 3T

4) Setting, leveling, elimination of parallax and centering

QfaT, FHAT FEAT, ST HT 37, IR FRT HET

Correct Answer: Setting, centering, leveling and elimination of parallax
afdar, FRea e, THde e, 3R T F 3T

Candidate Answer: Centering, elimination of parallax, leveling, and setting
HTAT T, FlaeT T SeoeleT, Ao aaire, AR afdar

QID : 130 - Which of the following is used for determining the location of station occupied by the plane table?

TAFATATRT # F FieT FI&TOT IZ F I@ gl o TATT & 0T F o Fw 391er foFam Sire &7
Options:

1) Both intersection and radiation
giaeses 3R fafeor gt

2) Intersection method

gieagsT JoTelr

3) Radiation method

fafeszor gomelr

4) Two point problem

2t foig werea (g dise Siee#)

Correct Answer: Two point problem

a1 g @ (g urse disos)
Candidate Answer: Two point problem
a1 g @ (g urse dieos)

QID : 131 - Which of the following is responsible for the formation of residual soil?

ferafaf@a & & wia a1 safse BE & e & v Seder &7
Options:

1) Glaciers

ECIRE Y

2) Water

ST

3) Wind

gar

4) None of these

3 & A



Correct Answer: None of these
ST A S TE
Candidate Answer: None of these

3 & A

QID : 132 - The coefficient of gradation and the coefficient of uniformity of a given soil sample is 1.0 and 4.0 respectively. The ratio of effective size to the diameter
through which 30% of the total mass is passed is

&1 IR THEY & ok A & Seerdel (SAT) IOTIeh SR ThETT I0Tieh harer: 1.0 X 4.0 &| I T FSATET 3T & WY 30T, Tordeh ATETH F gead e 1 30% TR
e arr & 2l

Options:
1) 1.25

2) 15
3) 1.75

4)2
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 133 - Which of the following shows the CORRECT order of increasing surface areas of the given soil?

feafafld & ¥ FI &RaT & Ted Tdg STH & Tl A D GETT 872
Options:

1) Clay < silt < sand < colloids

Rrepett FAEY < g < ¥T < FreAlgs

2) Gravel < silt < colloids < clay

FHPhs < G < Preligs < e A

3) Sand < silt < clay < colloids

T < e, < el AT < FieAss

4) Silt < gravel < colloids < clay

MG < Fhs < Preligs < ke A

Correct Answer: Sand < silt < clay < colloids
T < g < ey g < Feigs

Candidate Answer: Sand < silt < clay < colloids

T < 7 < RewedT fagdY < Fieigs

QID : 134 - What is the assumption made about back of wall, in the Rankine’s theory of earth pressure?

AT gaTa & {18+ (Rankine) & fleid # AR &I y&a & IR & 4T UROT 82
Options:

1) Plane and rough

FHA 3R G

2) Plane and smooth

FAAS 3R Keer

3) Vertical and rough

AR AR gee

4) Vertical and smooth

Feater 3R Rwar

Correct Answer: Vertical and smooth

Feater 3R Rewar

Candidate Answer: Vertical and smooth

Ftater 3R R

QID : 135 - Which of the following is CORRECT about the viscosity of gas?

PeRRTdaRTdg fraaa s aR A G §?

Options:

1) Inversely proportional to the temperature
ATIHT & Tt 3reqdriren

2) Increases with an increase in the temperature
AT # giE & ATy 9 A §

3) Independent of pressure

oS & AT

4) Independent of temperature

YA & T

Correct Answer: Increases with an increase in the temperature
AT 7 3RE & AT 9 el §

Candidate Answer: Increases with an increase in the temperature
AT F 3RE & T 9 A §



QID : 136 - Pressure of 200 kPa is equivalent to the head of z metre of liquid having relative density 1.59. The value of z (m) is .

200 kPa T ZaTe 1.59 HIYET Teled & o¥el Uard & z Hie Fa1s & sl §| z (Fe) drae 3§
Options:

1)11.6

2) 11.82

3) 12.82

4) 13.14
Correct Answer: 12.82
Candidate Answer: [ NOT ANSWERED ]

QID : 137 - Which one of the following statement is CORRECT about the center of buoyancy?

TFAfafEd F O ST T FYUT 3cvalras Hg & TR H T E?

Options:

1) It is the point where buoyant force act.

Ig IE TAT & STel Scvolraet ool SR T B

2) It coincides with the centroid of volume of water displaced

g TaEfie arel 1 AT & g & | Aol @Wiar &

3) It is the point where buoyant force act. and It coincides with the centroid of volume of water displaced
TE TE TUTT § STRT Scealraet gl 1 HIT § 3R I Raeanfe arely v #Arr & g & e A o @rar g

4) It acts outside the body.

Ig AT & 18T H1H AT B

Correct Answer: It is the point where buoyant force act. and It coincides with the centroid of volume of water displaced
Ig I TUT § S81 ScCaliael sof 1 T & 3R Ig faearia ur=it 1 A1 & e & @y Ao it @rar g

Candidate Answer: It is the point where buoyant force act. and It coincides with the centroid of volume of water displaced
Tg I TUT § SI6T 3cCalldel Sof 1 T & 3R Ig e ureir 7 AT & he & T Ao iy @rar &

QID : 138 - A longitudinal rectangular surface is hanged into the water such that its top and bottom points are at depth of 1.5 m and 6.0 m respectively. The depth
of center of pressure (m) from the top surface is
T IEASEH HRIARR HE ol Alell H 8 TR oTcehrT STl & 7 $8e I 3R ek & fg svarer: 1.5 #fex 31K 6.0 #iex &1 91618 W & | 39 g & gara & g 7

s () #

Options:
1)3.8

2)4.2
3) 4.6

4) 4.8
Correct Answer: 4.2
Candidate Answer: 4.8

QID : 139 - The velocity potential which follow the equation of continuity is .

TARERAT & THROT T UTelel et dTor 99T T &THAT gl

Options:
1)

2y

2)
2y

3)
cosx

4)

X+ e

Correct Answer:
-y

Candidate Answer:

$-y?
QID : 140 - At what distance from the boundary layer, the value of the wall shear is three times of the turbulent shear?

AT el el gl W, &R & 39607 7 AT 8[etT ARI0T T clie T 82



Options:

1) 1/3R

2)1/2R

3)2/3R

4) 3/4R

Correct Answer: 2/3 R

Candidate Answer: [ NOT ANSWERED ]

QID : 141 - Which of the following statement is CORRECT about the stream lines and equipotential lines?

AT & @ et &1 et ey Y@rsit 3R wafase Wt & an 7 @@ §?

Options:

1) Both can be drawn graphically for viscous flow around any boundary.
ST Y Y oY TaAT & 3TIITH 2T aTg o folw X@ieheT R ST Teha &
2) Meshes formed by them are always squares.

SeTeh GaRT TS AT FHAT FIMBR By &

3) They always meet orthogonally.

q gHT oIFead Ao &

4) They can be calculated for all boundary conditions.

SAehT ITUTeAT T HAT-GRM3AT 7 T 31 Fhell ©

Correct Answer: They always meet orthogonally.
g oTFead fRea &
Candidate Answer: They always meet orthogonally.

J gHAT oFead fHed &

QID: 142 -
The Rankine half oval body MM is subjected to
the two-dimensional flow having velocity V. The
typical stream line is shown in the Folldwing diagram.
The point A in diagram shows _

YAS (Rankine) 34T 3BMHR ag MM, V 49T &
A & e udre & = §| fafee

9T W@ FeAfeiag W # fegrs mi g
3w # fag A aeffan ¥

Options:

1) point at which velocity is maximum
g et 391 iRt &

2) separation point

GFHRIT foig

3) stagnation point

e foig

4) stall point

TeTe foig

Correct Answer: stagnation point
e foig

Candidate Answer: separation point
FYFRoT foig

QID : 143 - Which of the following is CORRECT ratio for Froude number?

AR & & et A1 H158 AR & foIT T 3171l &2



Options:

1) Compressive force to inertia force.

HHTST ol FT F5cd o T

2) Inertia force to gravity force.

STScd T T IEcATHIOT Tof §

3) Inertia force to tension force.

SEcd S & dAT g1 T

4) Viscous force to inertia force.

2T S T FSca Il T

Correct Answer: Inertia force to gravity force.

S5 Tl T IEcaATHYT aT &

Candidate Answer: Inertia force to gravity force.

STSca FoT T AECATHIT I

QID : 144 - For the most economical triangular channel section, the angle of sloping sides from the vertical is

FaH forhrareh Frentofer derer 3rgsmer & fow, seater & gare gait &1 Hror gl
Options:

1)

30°

2)
45°

3)
BO"

4)
75°

Correct Answer:
457

Candidate Answer:
45

QID : 145 - Method of applying water directly to the root zone of the plant is called .

O F T aT AN A e Frogfa__ FEar §
Options:

1) check flooding

Ak FATST

2) drip method

goa fafer

3) furrow method

¥ fafe

4) sprinkler irrigation

HearT TS

Correct Answer: drip method
goa fafer

Candidate Answer: check flooding
I FeAfSaT

QID : 146 - A field of 500 hectares is to be irrigated for a particular crop having 100 days base period. The total depth of water required by the crop is 100 cm.
Calculate the duty of the water (in hectares per cubic metre).

100 Tt & 3R 3rafer arer fRel faAw woer & AT 500 gaear &1F & Fafaa forar S &1 wae & fw ST arelt 1 a1e3rs 100 HEHTeX & areir &1 aradr (378 #r
T Y (FFIR T Tt #Hrex )|

Options:

1) 8.64

2) 57.87

3) 86.4
4) 864

Correct Answer: 864
Candidate Answer: [ NOT ANSWERED ]

QID : 147 - The traffic volume of a roadway is defined as the multiplication of .

T HSF & ATATATT T HTIT & T[0T & &9 F TR fhar a2 ¥



Options:

1) speed and time headway

aifa 3R w7 & afa

2) speed and distance way

Y 3R g % ey

3) traffic density and speed

Farad geicd 3R aIfT

4) time head way and distance headway
T 7 Ty 3N g ¥ T

Correct Answer: traffic density and speed
I Geed 3R afd

Candidate Answer: traffic density and speed
I Geed 3R a1t

QID : 148 - Calculate the equivalent radius (cm) of the resisting section of 20 cm slab, if the ratio of radius of wheel load distribution to the thickness of the slab is
2.

I R & AR RAaor (els FEwgregere) it Fisar 3k wola &7 At 7 3are 2 8, aF 20 FEHRR FT & I3y WS A FAGeT T (FH) I 107 Y|

Options:

1) 20

2)35.6

3) 40

4) 40.9

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - On peak hourly demand, what is the maximum daily consumption for the city which have average daily consumption of 100,000 m3 ?

T 2ET 7 3ad &R @ua 100,000 w5+ #Hex &, 9fa gier #7971 & iR W 3ifead e gua w2
Options:

1) 140000

2) 170000

3) 200000

4) 270000
Correct Answer: 270000
Candidate Answer: 170000

QID : 150 - For which of the following, distribution mains is designed?

Afaf@a & o fras T faawer ane IR fFar = &2

Options:

1) Average daily demand

Jraa &fae AT

2) Annual peak demand

¥R fRrER A

3) Monthly peak demand

AT RIER AT

4) Maximum hourly demand on maximum day

31T &t R 3ifehde Ifa ger AT

Correct Answer: Maximum hourly demand on maximum day

31 T R 3ferdaa gfa ger AT

Candidate Answer: Maximum hourly demand on maximum day

31fFas e W 31freras wfa ger AT

QID : 151 - Which of the following statements is true?

A. Most of the loads applied to a building are environmental load.
B. Most of the loads are dead followed by live loads.

AR & @ et &1 2w wh 82

A. $ARE R ARG g arer 31T gof 9afeRor aof g &1
B. 1fafRYer 57T & a1 31AHTY g TogI &1 S &1



Options:

1) Only A

Shad A

2) Only B

%had B

3) Both Aand B

A 3R B gt

4) Neither A nor B
FEAINRTEB
Correct Answer: Only B
Hae B

Candidate Answer: Both A and B
A 3R B gt

QID : 152 - How does an increase in the pitch of the roof affects the amount of load that can be placed on it?

B & dNca 7 & 5 TR 38 AR T AT FT FeTAT HAT & ST 38 I @1 7 Fehell 57
Options:

1) It increases

SEH i gl &

2) It decreases

TG HH &I ST &

3) Remains constant

IGRLECIRGGIES

4) Depends upon case

Rufy X R F=ar g

Correct Answer: It decreases

TG HH B ST &

Candidate Answer: Remains constant

IGEGECIEGLIES

QID : 153 - What will be the rain load (in psf) if dg is 2 inches and dy, is 1 inches?

IR dg 2 §T 3R dy, 1 $T &, @ I HR (psf F) e grem?

Options:
1)5.2

2) 10.4
3) 156

4) 20.8
Correct Answer: 15.6
Candidate Answer: [ NOT ANSWERED ]

QID : 154 - Concrete is:-

FHIT i-

Options:

1) Good in compression, good in tension

FFIET 7 3o, dad H 37<aT

2) Good in compression, weak in tension

wEdisa # 3resT, aE & g

3) Weak in compression, weak in tension

wEdisa # gie, defra #H gaer

4) Weak in compression, good in tension

wrdisa # gee, dela 7 3reeT

Correct Answer: Good in compression, weak in tension
Fedisel 7 3r<eT, dofa 7 gad

Candidate Answer: Good in compression, weak in tension

wedise 7 3r<eT, defra 7 g

QID : 155 - If in planar system, X parts/members are there with Y no. of forces, then condition for statically determinacy is:-

T FATNT A &, X 9197/37009 § SR Y T&a1 & 9o 3R €, O Tfas &7 @ Rf@adr & o od &:-

Options:

1)Y < 3X

Y < 3X

2)Y > 3X

Y > 3X

3) Y=3X

Y= 3X

4) None of these

3 & A



Correct Answer: Y= 3X
Y= 3X
Candidate Answer: [ NOT ANSWERED ]

QID : 156 - If a system has more equations of equilibrium than no. of forces, then the system is:-

3R T & ol hT HEAT T JofaTT & HEIATEEUT & 3T Ftetor 8, dr frehr 8-
Options:

1) Improperly constrained

I &9 4 fowg

2) Partially constrained

3RF w7 & fve

3) Stable

gAY

4) None of these

ST W IS T

Correct Answer: Partially constrained
3RF w7 & fovg

Candidate Answer: Stable

FARIT

QID : 157 - Which of the following material is not used in making trusses?

o ST 3 ot F & fra ameet 1 39aer st fomam smar &7
Options:

1) Wooden struts

RS h GH

2) Metal bars

o #1 53

3) Channel

Aeter

4) Concrete

Fhic

Correct Answer: Concrete

Fhic

Candidate Answer: Concrete

Fehie

QID : 158 - In a truss it is assumed that the members are joined by

H & Ig AT S § 1o 3aad goTeh aRT Ueh g8 & 3 &ld &:-
Options:

1) Rough pins

T e

2) Smooth pins

et T

3) Either rough or smooth pins
1 At GIGX AT e ot

4) None of these

T W IS T

Correct Answer: Smooth pins

FRrepet Rt

Candidate Answer: Smooth pins

et Rt

QID : 159 - What is the major difference between truss and beam?

oo 3R & 7 e s T §?

Options:

1) Beam can't transmit load in vertical direction while truss can
1 Faad G2 7 R THRA A8 X Tl § ASTh ¢ Y Tl &
2) Truss can't transmit load in vertical direction while beam can
T8 vEad e 7 #R TaRd FET X GehlT § ST 1 H Tl §
3) Beam can't transmit load in axial direction while truss can

o 31efr e F TRy 78T Y TR § Sk TH X ThT §
4) Truss can't transmit load in axial direction while beam can

o i e & AR G 781 X TehlT § ST S1H P Tehall §

Correct Answer: Truss can't transmit load in vertical direction while beam can
T8 wead f&em # #R TaRd 8T X Gl § i SH7 H Thcl §

Candidate Answer: Beam can't transmit load in vertical direction while truss can
Ao eleae e 7 #R g Tl T FehdT § STafd g8 H HRaT g



QID : 160 - Given that J is no. of joints. B and R are no. of members and no. of reactions.

If B=4, R =3 and J = 4, then the truss is:-
feam 3 & o 1 st dr @@ €1 B 3R R sragar 3R gfafkansit $r e g

IRB=4,R=33RI=4% A gae-
Options:

1) Statically determinate

wifas &7 @ IRfAT

2) Statically indeterminate and stable
wifas w7 8 3aRfAa i weml

3) Stable

TR

4) Unstable

YR

Correct Answer: Unstable

Kirsiip)

Candidate Answer: Unstable
Kirip

QID : 161 - Which IS code gives details regarding water to be used in concrete?

Sehle & 3TANT fFT ST T Urell & TesT 7 i T IS HI5 fFavor yere #dr §?
Options:
1) IS 456
2) IS 383
3) IS 565

4) 1S 3012
Correct Answer: IS 456
Candidate Answer: [ NOT ANSWERED ]

QID : 162 - Which of the below is an example of plasticizer?

fAFATITET H ¥ FieT TATECHTSIR T Ueh 3GTEI0T &7
Options:

1) Hydroxylated carboxylic acid

grsgsiiFaees Felsirdiios s

2) Fluoro-silicate

FaRT-faferse

3) Gypsum

i

4) Surkhi

&

R}

Correct Answer: Hydroxylated carboxylic acid
grsgiiFaces Felierdios s
Candidate Answer: Fluoro-silicate

FaRT-Raforhe

QID : 163 - How many methods of batching of concrete are there?
Fihre HiT IR Fer AT v ot §2

Options:

1)2

2)3

3)5

4)6
Correct Answer: 2
Candidate Answer: 2

QID : 164 - Concrete is generally placed on a:

FHehie IMHGR W v 9= @1 SaT §:



Options:

1) Form work
AT F
2) Stand

s

3) Mould
el

4) Platform
= rase)

Correct Answer: Form work

@ffT w =

Candidate Answer: Form work

@ffa w

QID : 165 - The effective width of a column strip of a flat slab is taken as

ol T T HiereT g 1 gamrd Aers i AT E |
Options:

1) one-fourth the width of the panel

Yoo &7 <3S FT U TS

2) half the width of the panel

Yol &7 i8IS 1 3mer

3) half the diameter of the column

I & ST HT LT

4) the diameter of the column

HIcH & I

Correct Answer: half the width of the panel
UeFer v aigrS T 3MEw

Candidate Answer: [ NOT ANSWERED ]

QID : 166 - Permanent dimension changes due to loading of concrete is termed as:

SehIc STelet & SHIRUT AT F gleT aTell TR GRade Shgerrdr §:
Options:

1) Strain

fagfar

2) Extent

gR&ToT

3) Creep

fador

4) Ambit

aRfr

Correct Answer: Creep

T

Candidate Answer: Strain

fapfer

[

QID : 167 - In design of R.C.C. structures, the tensile strength of concrete is taken as:

TR AT, T3 & Borsa H, dehie 6 detet &THdT I forg §9 7 o m S &:
Options:

1) 5N/mm?

2) 2N/mm?

3) 0.3N/mm?

4) None of these

T W IS e

Correct Answer: None of these
T & A

Candidate Answer: None of these

oo & S Tt

QID : 168 - Flexure strength of concrete is determined as:

ShehTe & dheT ALY & ol &7 7 TR o arar &:



Options:
1) Modulus of rigidity
FedT auTish
2) Modulus of rupture
$9T 0TI
3) Modulus of plasticity
ColTEeahaT I[uTieh
4) Modulus of elasticity
FATEY AT 0TI
Correct Answer: Modulus of rupture
3T 0TI
Candidate Answer: Modulus of rupture
9T I[OTIH
2
QID : 169 - Properties of concrete can broadly be divided into:
1T & Hgetal 0TIk TQ&ToT A fohclel 81 gl 82
Options:
1)1
2)4
3)2

4)3
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - Which IS code gives specifications about cement plaster?

T TT IS 15 T & Tomae & IR F _fader ar @2

Options:
1) IS 1500

2)1S 1221
3) IS 1400

4) 1S 1661
Correct Answer: IS 1661
Candidate Answer: [ NOT ANSWERED ]

QID : 171 - In a lime-cement plaster, ratio 1:1:6 corresponds to:

TA-HIHE & CoATEeR H, 1:1:6 3T hash Hger g ¢
Options:

1) Lime:cement:sand

FAT: WA qTe]

2) Cement:Lime:sand

AT T qTe]

3) Lime:sand:gravel

AT qTe; T

4) Cement:sand:gravel

T aTe; Ty

Correct Answer: Cement:Lime:sand
e AT & Te]

Candidate Answer: Cement:Lime:sand
e AT &To]

QID : 172 - On which of the following does the correct proportion of ingredients of concrete depend upon?

TrAfafd & & fra W e T et o7 FEY T R e §?
Options:

1) bulking of sand

o] T EYeTet

2) water content

Tt Y AT

3) absorption and workability

Fraeitoor 3R gearar

4) All option are correct

g Aoy a8 &

Correct Answer: All option are correct

T RFeT a8 &



Candidate Answer: All option are correct

T ReFeT T8 &
QID: 173 -
If X,Y and Z are fineness moduli

of coarse fine and combined
aggregates, the percentage
(P) of fine aggregates to combined

aggregates is

IR AR, A 3R afea 9 &
AT AUE X, YA 2 &, ar 7 g 3R
TS Gor &1 gfderd (P) R

Z—X

1P = Z£ x100
Z-y
2P = == x100
3P = 22 x 100
Z+Y
X+Z

4P =22%100
Z=Y

Options:

1) [1] Only

el [1]

2) [2] Only

el [2]

3) [3] Only

el [3]

4) [4] only

Sl [4]

Correct Answer: [2] Only
Fad [2]

Candidate Answer: [ NOT ANSWERED ]

QID : 174 - Which of the following statements is false?

Arafaf@a & @ #ia a1 sa= 79 §?

Options:

1) Workability of the concrete mix decreases with an increase in the moisture content
ot 7 AT F 3T € & WY AT 3 BT 1 G F @1 et €

2) Concrete for which preliminary tests are conducted, is called controlled concrete
Fehre forae faw grafaes gdieror fre ara €, fafa sshie wgard §

3) Bulking of sand depends upon the fineness of grains

T, T TYE HOT T FaHAT T R e &

4) All option are correct

g Ao a8 &

Correct Answer: All option are correct

T RFeT a8 &

Candidate Answer: Workability of the concrete mix decreases with an increase in the moisture content

AT T AT H g gl & A FHhre F HAT T Gehriar A g A §

QID : 175 - Which of the following statements is false?

frafafld & & wid a1 Fue ITed §?

Options:

1) Space between the exterior walls of a warehouse and bag piles should be 30 cm

TSRS T ATET Srary 3 Aot & T o oIy o1 TAT 30 FT gl AT

2) Cement bags should preferably be piled on wooden planks

HidT & AT T IMAAR T TH3T & T 91 I@T AT AT

3) Cement bags should be placed such that bags of one layer does not touch the bags of the adjacent layer
T & Aell T 38 TR QT ST 11T o AT 1 v o Aell 1 3mae R &1 7 g

4) None of these

o & A



Correct Answer: None of these
ST § S TE
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - Which of the following statements is false?

efafd & & i a1 HU= Tod &7

Options:

1) With passage of time, the strength of cement increases

T & Ty, Weie & A # gty e d

2) With passage of time, the strength of cement decreases

THT & T, T HT ALY gear §

3) After a period of 24 months, the strength of cement reduces to 50%

24 ATg &1 31af & a1, W & qHLT F 50% HT FaAT g1 S §

4) The concrete made with storage deteriorated cement gains strength with time
SR 6T IS &7 T CaRT IT8 IS Sshle TAYT & T ATHLY YTed HIT &
Correct Answer: With passage of time, the strength of cement increases
T & AT, Wete ¥ aweed # gty e d

Candidate Answer: With passage of time, the strength of cement increases

FHT & T1Y, HoT & Aoy 7 gie o g

QID : 177 - For a concrete mix 1:3:6 and water cement ratio 0.6 both by weight, what is the quantity of water required per bag?

hshic TAH0T 1;3:6 3R STor HIFE 31e7dTel 0.6 ST 8] EaRT o forw, wfer Aefm ST hr AT 37T §2
Options:

1) 10 kg

10 fpelr

2) 12 kg

12 fpelr

3) 14 kg

14 felr

4) None of these

o I AT

Correct Answer: 14 kg
14 falr

Candidate Answer: 12 kg
12 fper

QID : 178 - Transport of concrete by pumps, is done for a distance of

9T SART Fse A1 IRasd, frcet gl & forw o Sar &
Options:

1) 100 m

100 #HreX

2)200 m

200 #Hrex

3) 300 m

300 #Hrex

4) 400 m

400 #Hrex

Correct Answer: 400 m
400 Hrex

Candidate Answer: 200 m
200 #Hrex

QID : 179 - The compression in PSC is done by of high-strength tendons.

PSC # FFdgeT Ioa-A1Fed arel RRT & EanT e e &1
Options:

1) Compression

gFdse

2) Tensioning

TTATRTOT

3) Shearing

OFqoT

4) Bending

Sehel

Correct Answer: Tensioning

TeAeIThIOT
Candidate Answer: [ NOT ANSWERED ]



QID : 180 - In which beam tension capacity of steel is greater than combined compression capacity of steel and concrete?

o o7 3 ST &7 aTa W SET SR dshie & HATIT TEgeT FeTe dr Jofelr 7 310 g §?
Options:

1) Over-reinforced

FAH-gee

2) Under-reinforced

FHGTS

3) Singly reinforced

UHl ged

4) Doubly reinforced

< gee

Correct Answer: Over-reinforced
FH-gea

Candidate Answer: Over-reinforced

Ftr-gee

QID : 181 - _
If w is total load per unit area on a panel,

D is the diameter of the column head, L is

the span in two directions, then the sum of
the maximum positive bending moment and
average of the negative bending moment for

the design of the span of a square flat slab,
should not be less than

3R YA 9 Fel AR Yl SIS &1 WE, FdH &
of§ &1 cgrE DE, & Rwst F e LE, & geR
HHT B & g F RBarea & @ sfawa

YATCHSE ddhel HTHUT I HONCHS dohal HTEOT &
Fraa &1 AR A FH AGT gl INgY

A]E(L_E)Z B ™ (1 +22)°

2 2
= (L-2) D= (L-2)

Options:

1) A Only

Fad A

2) B Only

Fad B

3) C Only

Fad C

4) D Only

Fad D

Correct Answer: C Only

Fad C

Candidate Answer: [ NOT ANSWERED ]

QID : 182 - For a circular slab carrying a uniformly distributed load, the ratio of the maximum negative to maximum positive radial moment is

T JeclToh Troleh [ TR THaAT &9 8 #R Rafa § % e, simas Homers 3 sftsds tercas e 3ot 1 3eaa &

Options:
1)1

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]



QID: 183 -
If permissible compressive stress in concrete

is 50 kg/cm?, tensile stress in steel is
1400 kg/cm? and modular ratio is 18, the

depih of the beam is

I FPle H FFAa Fdsa gfaes 50
FREAN2 B, grara o et whaeer 1400
femas2 # sk g e 18 g,

GUCIE IR

4]d: JDA::;;;;M.

Options:

1) [1] Only

el [1]

2) [2] Only

el [2]

3) [3] Only

el [3]

4) [4] Only

el [4]

Correct Answer: [1] Only
Fael [1]

Candidate Answer: [ NOT ANSWERED ]

QID : 184 - The breadth of a ribbed slab containing two bars must be between

2 B3 g YRR theleh T =SS TS ST glely TRT
Options:

1) 6 cmto 7.5 cm

6 THT ¥ 7.5 FAY

2)8cmto 10 cm

8 qHT & 10 ¥

3)10cmto 12 cm

10 ST § 12 /T

4) None of these

o o AT

Correct Answer: 8 cm to 10 cm

8 {HT & 10 A
Candidate Answer: [ NOT ANSWERED ]

QID : 185 - A foundation rests on which of the following?

g Ffafd 7 @ fed WA g &
Options:

1) base of the foundation

T 1 3MUR

2) sub grade

39 Aofr

3) foundation soil

e $ fagT

4) Both Sub grade and foundation soil

39 A7OT 3R g $r AT g=r

Correct Answer: Both Sub grade and foundation soil
39 A0 3R g $r AT g=r

Candidate Answer: foundation soil

e & fagT



QID : 186 - Which of the following statements is true?

efafld § & Fi T FUT TeT &2

Options:

1) To ensure uniform pressure distribution, the thickness of the foundation is kept uniform throughout

THHHATA &1 AT GAREd aat & forg, oia i aiss qff e & v @ s §

2) To ensure uniform pressure distribution, the thickness of the foundation is increased gradually towards the edge

ThEHAT &1 TIRoT AR Htat & o, ;ﬁaﬁzﬁgéﬁw#maﬁgtﬁ%-tﬁ%q%@?ﬁm%

3) To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge

ThEHAT &1 TIRoT AR Htat & o, ﬁa@rﬁg@ﬁaﬁ@rsﬂwaﬁgtﬂ%—tﬂ%mﬁ?ﬁm%

4) To ensure uniform pressure distribution, the thickness of the foundation is kept zero at the edge

THHHATA &1 TAaoT GAREd aat & o, R W g &1 =iss e @ s

Correct Answer: To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge
ThEHAT &1 FARoT AR #tet & foT, ﬁa@rﬁg@ﬁzﬁ:@r&ﬂ:aﬁgﬂﬂ%—tﬂ%mﬁ?ﬁm%

Candidate Answer: To ensure uniform pressure distribution, the thickness of the foundation is increased gradually towards the edge

ummmﬁmwgﬁﬁaamﬁ%m,mﬁﬁg@ﬁw#mmgm-ﬁqﬁmm%

QID : 187 - The weight of a foundation is assumed as which of the following?

forafaf@d # & fFa ofia &1 %R AT Sar 872
Options:

1) 5% of wall weight

EIaX o gofeT T 5%

2) 7% of wall weight

&R F ToT=T HT 7%

3) 10% of wall weight

&R & gotel T 10%

4) 12% of wall weight

&R & gt T 12%

Correct Answer: 10% of wall weight
EraT & FoleT AT 10%

Candidate Answer: [ NOT ANSWERED ]

QID : 188 - If the width of the foundation for two equal columns is restricted, the shape of the footing generally adopted is

3R &Y SRR Te7 & T =g & gz glaafaa & 7% &, O T §9 I YR $1.376R §a1
Options:

1) Square

T

2) rectangular

3TIAThR

3) trapezoidal

v aqelsia

4) triangular

[ECaLIE

Correct Answer: rectangular
3MTIAThR

Candidate Answer: trapezoidal

[EACEGtTiC]

QID : 189 - Maximum shear stress theory for the failure of a material at the elastic limit is known as

JeITEY HHAT IR TTHAEAT T TAHerar & v 31 as 3awqoT gfdeer f 50 &9 & &) ST ST §
Options:

1) Guest’s or Trecas’ theory

AEe 71 T g

2) St.Venant's theory

Je 3=7ia &1 Rgia

3) Rankine’s theory

YATReT T Rgia

4) Haig's theory

&1 &1 Rt

Correct Answer: Guest’s or Trecas’ theory
e 71 T g

Candidate Answer: [ NOT ANSWERED ]



QID: _190 - . ]

A simply supported beam carries a varying
load from zero at one end and w at the
other end. If the length of the beamis a,

the maximum bending moment will be

TAT ST A AT ST St oR FT IR wi
3T THY O & A wil 3R €17 #i
FE% a g, ar FUean Fe 3TEUT gen

wa

27
wia
] 27

w?a
C] =

wa?
2

2

Options:
1) A Only
Shad A
2) B Only
%ad B
3) C Only
Shad C
4) D Only
%ad D

Correct Answer: D Only
%had D

Candidate Answer: [ NOT ANSWERED ]

QID : 191 - When not specified, the volume of steel in R.C.C. work is taken as:-

S AfEse T g, a IRA S T A FT3AAT _ foRT AT S |
Options:

1) 1% to 1.6% of R.C.C. volume

IR 3TIdT FT 1% & 1.6%

2) 2% to 4% of R.C.C. volume

IR 3T T 2% ¥ 4%

3) 4% to 6% of R.C.C. volume

IR 3T T 4% ¥ 6%

4) 0.6% to 1% of R.C.C. volume

IR 3mIdT FT10.6% T 1%

Correct Answer: 0.6% to 1% of R.C.C. volume
AT 3madT #710.6% & 1%

Candidate Answer: 2% to 4% of R.C.C. volume
ST 3MIdeT &1 2% ¥ 4%

QID : 192 - The ratio of maximum shear stress to average shear stress of a circular beam is:
A.2/3
B. 3/2
C.3/4
D. 4/3

FoclTohTR &1 T TR & 3T Hicierel X 3T HTEIOT FicteTel T IuTeT 8:
A.2/3

B. 3;2
C.3/4

D. 4/3
Options:
1) A Only
FaeT A
2) B Only
el B
3) C Only
el C
4) D Only
el D



Correct Answer: D Only
%had D

Candidate Answer: D Only
Hael D

QID : 193 - The property of a material by which it can be beaten or rolled into plates, is called

HIHAT HT 0T FT GaRT 5 e T AT GATH Tl dlTs o Hhell §, FEollal &
Options:

1) ductility

degdr

2) plasticity

coTHfeRdT

3) elasticity

ERICSIGI

4) None of these

ST A FIS 6T

Correct Answer: None of these
T W HIE AT

Candidate Answer: plasticity
cerafeshdr

QID : 194 - What is the limit to Poisson's ratio?

TS 3 3T Sh HAT T §?

Options:

1)0.1

2)0.2

3)0.3

4) None of these

ST I AT

Correct Answer: None of these
FTH § FIg AT

Candidate Answer: None of these

FTH W P A&

QID : 195 - Among the following, which is least elastic?

rfafld § & i, T8 F7 T3 21ar &2
Options:

1) Iron

g

2) Copper

HIT

3) Both Copper and Silver
FR 3R T gt

4) Rubber

&3

Correct Answer: Rubber
&3

Candidate Answer: Rubber
REE

QID : 196 - Two bars of different materials are of the same size and are subjected to same tensile forces. If the bars have unit elongations in the ratio of 4 : 7, then
the ratio of modulius of elasticity of the two materials is

A. 4:
B. 4:10
C. 16:49

Foferee areral 1 & o3 FAe IHR 1 3R 37 R FA dotet Fof IR frar S 81 afS o5 1 gers Aot 3eqara 4:7 # €, o it Fmalt 7 9 Arer ot
T 3T &
A. 47

B. 4:10
C. 16:49



Options:

1) A Only

hadl A

2) B Only

%hadl B

3) C Only

shad C

4) None of these

o @ S

Correct Answer: None of these
T @ T

Candidate Answer: [ NOT ANSWERED ]

QID : 197 - If a composite bar of steel and copper is heated, then the copper bar will be under:

A AT 3R FIR Y TR 5 I R ST, A PR T B3 3 3T @
Options:

1) tension

REic)

2) shear

9EqOT

3) torsion

TR

4) None of these

T W IS e

Correct Answer: None of these
T W IS e

Candidate Answer: None of these

o & 3 it

QID : 198 - Pick up the incorrect statement from the following : The torsional resistance of a shaft is directly proportional to

TrAfafla # & 1o e oi: AT T AT TR ordeh HATHHATATCT Bl &
Options:

1) modulus of rigidity

FEdT AuTih

2) angle of twist

HTE 10T

3) reciprocal of the length of the shaft

Qe T oIaTS & AT

4) moment of inertia of the shaft section.

QITTFE 3137 T STgcargor

Correct Answer: moment of inertia of the shaft section.
QITHFE 317819 T Sgcargel

Candidate Answer: reciprocal of the length of the shaft

QIftre T SIaTE & SYchaATeaTe

QID : 199 - Net sectional area of a tension member, is equal to its cross section area

TelTe 37T T Fel TR &Thel, 3Hh Tehel TRTDE &7l I
Options:

1) plus the area of the rivet holes

3R RaT & gl & &30 & J197 & se< glar &

2) divided by the area of rivet holes

F1 RaT & gl & 7% &I faaiod s ured o smar &

3) multiplied by the area of the rivet holes

w1 e & gl & eyt 3 ayom ek yree fora ST &

4) minus the area of the rivet holes

I R & TBGT o &Il T TR I FhIT ST §

Correct Answer: minus the area of the rivet holes
I Rae & BT & &rTthel T geTa gred T ST &

Candidate Answer: minus the area of the rivet holes
FI RAT & gl & STl HT T I fhaT ST §

QID : 200 - When a tension member consists of two channel sections, the allowance for rivet hole is made for two holes from

AT 3aTa A & AeTel T g1l W, Rde & &g & fow 3ie” - ¥ ey Bl & o samr Smar g



Options:

1) each web

g aF

2) each flange

I fhaART

3) each web or one hole from each flange whichever is more
TA® aF AT T Thelk T T g ot off 31fes ar

4) each web or one hole from each flange whichever is less
JAF I AT TAH FhaR T T g o ofr v &

Correct Answer: each web or one hole from each flange whichever is less

I 99 AT Ycdeh fhelR W U TS5 ST &7 FoT gr
Candidate Answer: [ NOT ANSWERED ]

www.allexamdost.com



